#FE /M6 F2E SHRHETRA N B REMRE

20244 6 A23B Xk

I PR EF fE160 9

1i|m %% @) 22?? @ mm () | 50 @le 400
e [ @ 99 w45 wlol 25 12 @l 279 w
21w 18:16: 15l 2400 = 3l 18 e 292 Hua

o 720 #2165
= (1) (g = H) (2) (% = J7)
7= =T
ﬁan Z/%E!g ﬁﬁFn \Fl
| 76 “ 516 »
6 (1) (i = H) (2) (i = H)

figgin 2 i

0

40. 5 «

FAE R 2

| 117 -

(B2m) &£5mx20




AFE /N6 F20 SBHUETA S B iR 2024 6 A23H Xk

(2—1)

36X 1000~ (30 X 60) =20 (m /)

~6HFEV 4—4, 10, 16,
+~9HFEV 1—1, 10, 19, -

LCM(6, 9)=18L&1V, 10+18XO&HKHED,
10+18X[1=1000&L v, KA T, (1000—10) +18=55
T, OIZHTITE 50T 0 ~550D56fH,

600X 0.05=30(g) 400%0.06=24(g)

LT, HMOESOHIF, 30:24=5 : 4
WS U< 250, (600+00) : (400+00) =5 : 4
600+ 0=0), 400+0=@ L+ 25 &, ZDDH200g,
[1=200% 5 —600=400(g)

2X3, 2X6, 3X4, 3X6, 4X6, 5X6,
6X7TDTHY,
HRENTET, ~ 6007
150 X 12+600=2400 (1) N
2400~ (180—150) =80 (f&) ---@ 18019
£ -oT, O=80+12=92 ({#) 1509
CHE—
@ 1218
90—60230(§) A 1l D
(180—30) = 2 =75 (J) e
180— (75+60) =45 (J) 75°
1 1J60° =+
@

D LD ICFEFHBET 5.
2
2X2Xm XX B=8Xx

=25. 12 (cii)

AANAAAL

NAREZIKEET D5 &,
IEFEIE, (6 +8)X 2 X 8 =224 (ci)
X o CEmEEIE, (292—224) + 2 =34 (cii)
34 8 =272 (ci)

ho_ L R 1
PES=AX (1 Q B X (1 J C X (1 g

3 4 5
A:B:C=—:—:—=18:16: 15

9800 X X <1-—f§o::ggggggiz

18+16+15

[3)1)

2)

D=Qcit, HD=QcieT25L, D+D=2 % 3 =0 (c)
2 2
£, @=99x o =18l

3
@D=18 ><3227(crﬁ)

D+@D=99+ 2 =49.5(cik) L v,
@©=49.5-27=22, 5 (af)

. . 4/\
B A YT T BENL LD A N
L2175, g

BAIEE S22 E, A /
MO TAIZRD DL, HH
HHTARIZENTND,
2+4=6 (31%) B
e OEIOMIE, 80:60=4 : 3
ABZELOIZHN DR OIE, 3 : 4
ENENGGy, @l 5L, ABPEEITHI DRI,
@X 2=
®—®=0=16 (47)
80X 9 =720 (m)

HDAMAIZE S OB, O+ 2=14(4571%),

— INGY
Eui;14+4 }8CU&) 145y 1843
1453 % 1> B 1853t DI, A
HFDOEOIZRD,
MORHDE 0 2T DI,

4 2
:2— LN Z))Z)) °
312 7()7) %)

®=9%

2! It
PBlE, 4 X

2 2
;of,m+27:w7wﬁﬂ

SEESITIEE, Cs=843GEY)

—HEMR LSO, 72T 3mY, Bn3mn,
N2 BHLDOT, 3+3+2=8GEY)
LT, ZAIE, 84— 8=T6({H)

3RS TIEIE, wCs=5600GEY)
—EMHES0E, HFORO X
UKD B,
2CaX104+1 X 4=44GAEY)
L-oT, =ZMAFIL,

560 —44=516 ({#)

AN




FFE /M6 F20 EEHETRA M B FER 20244F 6 A23AE®

(2—2)

P
I 6 cm J 6 cm
2 cm 3cem
3:(6—3)=1:14xkb, rToC
OB ZN LMD ]
Xocks, ,4%%
1 v ADK 1L 3, :.___E H
(3+6)X9+2=40.5(ch) : %
'___ - — - -
F G

BB EFEEO L5 1
22, N R

40.5X 2 + 6 X 6 =117 (i) wir -
Yy 4«

_________

B £ 5 BX20




